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Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.

The maximum marks printed on the question
paper are applicable for the students of the
regular colleges (Cat. ‘A’) These marks will

however, be scaled up proportionately in respect
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of the students of NCWERB at the time of posting
of awards for compilation of result.
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Attempt all questions.
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SECTIONA
HIE H

1. (a) Explain the distribution of terms in A, E, I, O
Propositions.

L 3

Or

Explain the notion of Existential Import of
Propositions. '
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(b) Reduce the following propositions to their logical
form :

(i) Cats eat meat.

(i) A few rdoctors are registered.
(ii1) Learned ﬁlen are never fools.
(iv) Mostrevolutions are not free from bloodshed.
(v) Only adults can sce the movie.

Or

If ‘some students are scholarship holders’ is false,
then determine thé truth value of the following

propositiéns :
(i) No scholarship holders are non-students.

(i) Some non-scholarship holders are students.

(1) A, E, 1, O i # v i s Hifve
S EL

aﬁmﬁﬁmmmﬁwﬁmi
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(i) @aa-wgﬁumﬁmsﬁﬁl

2. (a) Prove the following :

(1) ‘A’ can be the conclusion only in the first
figure.

(ii) The conclusion must be particular in third |
figure. -
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Or 3Ix2=6
Explain the fallacy of illicit major and undistributed
nddle.
(b) Give the converse and obverse of the following
propositions :

(i) All scientists are genius.

(i1) Some factories do not produce pollution.
' 4
Or

Differentiate between contrary and contradictory

relation.

(37) ST <hifsre - ‘
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e
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(7) ot o i & vRaRia sf sRERi w
.
(i) it e wlrmeet ¥ 1
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.
falia =Nt st gey # sy we fifsa
Section B |

s 9

3. Using truth table method determine the validity/invalidity

of any two of the following arguments :
@ (@P>q9V-q|.~qD~p
(i) (p>q)>~(p.q)

(i) [((p.~q)Vil=~ p
5%2=10

e ot Rt o B Rt < afeed ) e

@) (p2QV~ql-~qD~p
) (poqo~(p.q -
(i) {(p.~q)Vrl=~ p
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4. Use the shorter truth table method to prove the validity /
invalidity of any two of the following :

@ (~pD~@D~r|"pD@>D
(i) {(pVq.1io{p>D{gVr)]

(i) (po@21)i2lp.q>1]
5x2=10

Or |
If A, B, C are true and X, Y are false, then which of the
following are true ? |

(i) (ADB)D(~C=~X)
) [A.X)DY]D[(XDA). (YDA
(i) ~ (X DY) D [(A. X) V (~A. ~ X)]
| 334

g wea wrott faftr gr Frffga foredl <Y gl & Qe
arayar ymwr fifs : | '

o) (~po~g@>D~rl.p>2(g@>r)

i) pVQ.rI>[pD(Vn)]

(i} [po>@>n]2[p.9>1]
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A A, B, Cua g s X, Y o & o Frfofaa 3 9
FA-PAETITLT

(i) (ADB)D(~C=~X)

([l {(A.X)DY]D[(XDA).(YDA)]

(i) ~XDY)D[A. X)V (~A. ~X)] |

S. . Construct a formal proof of validity for any two of the

following arguments ;

i) ADB
CoD
AVC[.‘. (A.B)VIC.D)
() QDR
RDOS
~S|~~Q.~R
(i) (AVB)>C
(CVB)D[AD(D=E)]
A.D|..D=E
5x2=10
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frafafad fedl @ giml 6t Qum =1 sem W

WA Hife -
i ADB
CoD

(ii)

(iii)

(a)

(b)

AVC| . (A.B)V (C.D)

Q>R
RS
~8{.~Q.~R

(AVB) o C
(CVB) > [AD(D=E)]
A.D|..D=E

Define the following expressions as per the
instructions :

(i) ‘p=~ q’ into stroke function
(i) (p>q)Vp'into ‘~’and ‘.’
3x2=6
Symbolise the following propositions into the

logical notations of propositional function and
quantifiers

(i) Only children are innocent.
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(ii) A few plants are medicated.
(1it) Sparrdws are not mammals.

- (iv) Snake bites are not always fatal,

(37) ﬁtﬁ%«lﬁga o i Frdagar afenfig Hif
() ‘p=~q REHFFATH|
(i) (poq) V p @i~ ST H|
(@) Frafofea aharrl # adamEaRes AUl T
afeeoreh! W weltshreRtoT shifsT -
() FIA = ITHH B 2 |
(i) TS TH N Nl e ¥
(ifi) Ferfeat Tamamh e € |
(iv) TdeT TR Wtk TEl qran )
Section C
RCRE
(a) Write notes on any two of the following fallacies :
(i) Petitio Principii‘
(ii) Argument ad populum
(iti) Complex question
5,5
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(b) Identify and explain the fallacy committed in the

following example :

He must be a good teacher because he is a good

scholar.
5

(a1) frrffiaa i <t Qi o feopoft fafiay
- G) TFR
(i) AreRRISH e
(i) ot T
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